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'Revision

Respiratory Block




Four stations
First one:
1- Identify the rib and what is the side?
2- Two questions about radiology.

Second station:

It could be:

- |[dentify the conchae, meatus (and what is drain in), palate,
paranasal sinuses.

- |dentify the opening or the elevation.

- |[dentify the epiglottis, or one of the folds.

Third station:
About the hilum and the impressions of the lung.

Fourth station:
About mediastinum (one nerve, one artery, one tube, and the
vein)






AM‘A\ .M‘l\ Amn.‘x\
First rib Second rib Typical ribs (3-9)

- The Shortest, Flot, Broaod. a@esacacoccococ. m m .

© - Two surfaces: 1 _Hos costal groove (short). § . - Costal groove (for intercostal nerves & vessels) is

: Superior , Inferior . © - The tuberosity is superior. . inferior.

. - Two borders: | T —— 5 —Two borders: Upper , Lower

. Inner , Outer : Osmaly Gkl JSA e lehaa
e, : Al dmm e adiyo (S Caphall o A Uall gualy oyl cagliny A gllall e Leias o

ALl G saaly lans e ) (i e any ae 535Sy (Y



How can you determine the side ?

First step: Posterior and Anterior.

All the ribs have the some ends:
- Head contains facet followed by neck is POSTERIOR
- Flot end is ANTERIOR

Second step: Superior and Inferior.
Ist ribs:
The rough surface is SUPERIOR and the smooth surface is INFERIOR

?2Nnd ribs:
The tuberosity is SUPERIOR

Typical ribs:
The rounded border is SUPERIOR and the sharp border and the costal groove is INFERIOR

Then you can know if it's left or right



How to differentiate between the ribs?

First rib

A\ 4

Second rib

Typical ribs
(3-9)

: When you see a short, flat rib and the surfaces are upper and lower that is the first rib. :

. But when the surfaces are not clear “ if it's upper & lower OR inner & outer “and there is costal

: groove in the inner that is the second rib 5
Finally, the typical ribs are long, the surfaces are Outer & Inner.

|dentify”? And determine the side.




Thoracic vertebroe

: Girl's doctor: In case there is a question of :
. vertebra in the exam it will be “Identify” And There .

is ONE ANSWER:
Typical thoracic vertebra

spinous
process

Lamina

Vertebral
Transverse
process

articular surface
common features: '

-The body is medium sized, somewhat heart-shaped and has two
costal Vertebrae demifacets on each sides (superiorInferior) which
receive the heads of the ribs.

- also the transverse processes have facets that articulate with the
tubercles of the ribs.

- spinous process (long hooks sharply downward)

- Vertebral foramen (circular), pedicle, lamina.

Inferior articular
surface



Radio ogy

2 questions




1-First Rib
2-Clavicle




1-Right dome of Diaphragm

3-Right Costodiaphragmatic angle

6-left Cardiophrenic angle

Don't forget to write the side “ Left or right”







Middle nasal
conchae

Hard
palate

9 45 jaai aSS] Juzadl
odic (e dal) oy glasi Laday
CaialaSillg st

Gl (&
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Lateral wall of nasal cavity

w

Superior nasal
conchae

Inferior nasal

conchaoe
Jsb Gle Wiy san; s
Hard palate



Lateral wall of nasal cavity

If there is question ;

¢ about meatus it should |

followed by “What is !
drain into? “

S S |

Middle meatus
receives secretions from

Inferior meatus Superior meatus

receives secretions . . receives secretions from
middle ethmoidal, . :
from the . posterior ethmoidal
. maxillary, frontal & the .
nasolacrimal duct sinus

anterior ethmoidal
sinuses



Paranasal sinuses & The floor

Frontal air sinus

Sphenoidal air
sinus
drain into
Sphenoethmoidal
recess

Hard palate

Soft palate






Nasopharynx

Structures in the nasopharynx:

1. The opening of the auditory tube:
S A (e Lgdgaaad (5 a8

Inferior conchae ) (y 533a3

il o elia g Le aad laolaia) e o sdiai lhang

2. Tubal elevation: s a5 <71

It is not difficult at all
Opening or Elevation







Single cartilages

1. Epiglottis

Folds

2. Vestibular fold 3. Vocal fold







How to Answer Properly

1- Start with identifying the side.

- Check the number of lobes.
If it has 3 lobes then it is the right lung, however if it has 2 lobes only then it is the left lung.

J b Lla) S die 450080 (e Alshal o pd OS) bl @ gaaad cally JLEAY) (B Jlig n Le BB o
hilum & impressions

2- After you've identified the side, bear in mind that:

- Ifit's the Right lung, you will find gpenings of: 2 bronchus, 1 artery, 2 veins.
- If it's the Left lung, you will find openings of:  1bronchus, 1 artery, 2 veins.

3- Now you need to differentiate each opening.

- Openings for bronchus is cartilaginous («ailiy ol Leaaels),
- Opening for the pulmonary artery is soft.

cagin ) sine Qrtery J) Ass o shasty (gda (uSi gyl (i g ¥ sSe aadae s Dronchus ) 4wl sl | galla g ) gusall (28 J ) epad) (lUNQ A1 &S cinlla (2 s
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artery ) dai ¢ sleast Joha e e anldll bronchus i dsi ) galh g | sl S8 Guii Glaad) [UNQ ) &S0 Caalla (i s sl
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Pulmonary Artery ™

O sdina
SEPLEERNPRY
oSig n g

4480



It is best to feel for the cartilage

Bronchus on the borders of each hole to




SU perior & |nferi0r After distinguishing the bronchus,

the veins are found most anterior

Pulmonory Ve| N and inferior to the bronchus




| M P RES S| ON S

Right Lung Left Lung

Esophagus

Arch of
Aorta

Azygos Vein
- Descending

Thoracic
Aorta

Arch of
Azygos

Cardiac impression of the

Cardiac impression of the :
Left ventricle

Right atrium



Mediastinumj

One nerve, one tube, one artery







__________________________________________

Azygos vein i
e Baile Al 6 jaas o 28 S :
thoracic vertebrae i
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die il ey Sy Ly s il 5 (g S
Neck, then you will write VAGUS
) ae Juate oy ey
Dioaphragm, then you will write PHRENIC

. Vagus nerve |
i (C10) i
i “Short, Start from the neck *
! “and penetrate trachea * !

“Long, contentious at the

diaphragm

i (C3,C4,C5)

Don't forget to write the side “ Left or right *







Ascending aorta

Cut from the specimen and most
likely we won't see it

Arch of aorta

Descending aorta

Directly behind the
esophagus




Arch of the aorta gives rise to 3 arteries:
From right to left

Brachiocephalic
artery ‘Right"

| eft common

carotid artery

| eft subclavian
artery







Trachea

ESOphOQUS Rings of cartilage, white, Anterior
_ Muscle R — e
e e : nght “mOin, I_eft “mOin, primOry,
OS5 L sl 8 853 505 205 . primary, principal® i principal’ '
Descending aorta ;

bronchus bronchus

And if there is structure only in the right side and
collopsed, it's azygos vein



Don’t stop until yvou are proud.

Team Members: Team Leaders:

| 3 :."'57 “This exhibition taught
¥, M my studentsmorethanl
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